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BESER 1,000 | |#ROB 600
ME1EZE ROBER 500
c[O): 10,000 | |[HOO= 500
BO%EE 10,000 | |PE O 500
2O=R 10,000 | JEO= 500
FBOME 7,000 | |ZBOFE 500
E[@)7S 5,960 | |=OM 500
FO% 5,000 | |FFOIA 500
EOMH 5,000 | [BBOX 500
=018 4,522 | |EOE 500
RO 4,522 | [BOUE 500
fROZE 4,522 | PIOBE 500
BO& 3,000 | |ZE=OHi 500
>z OBf 3,000 | |[BO= 500
=0 3,000 | Ok 500
FOE 3,000 | |=OJR 300
O 3,000 | |2IOYE 300
=018 2,000 | |ZEOR 300
2O’ 2,000 | |HO1Z 300
fEOE 1,200 | |5ROfE 300
=201 1,000 | |FFOE 300
=0% 1,000 | [#ROZF 300
BAOR 1,000 | [Z=OR 300
O 1,000 | |BRO4 300
HO%E 1,000 | [#ROZ 200
FOm 1,000 | |#%BOH 200
Z0E 1,000 | |BIO& 200
EA@k=] 1,000 | |=ZOX 200
EEOfF 1,000 | [FOOE 100
Z0% 1,000 | |#BOR 100
1B Ok 1,000 | |MMOE 100
BEOHR 1,000 | |=OR3 100
O 1,000 | |mOE 100
Z0R 1,000 | RO 100
=0 1,000 | [#BOIMm 100
$BOHE 1,000 | |&8xO% 100
BO%E 20U 100




